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QUESTION 1

An architect is helping an organization with the Conceptual Design of an NSX-T Data Center solution.
This information was gathered by the architect during the Discover Task of the Engagement Lifecycle:
Existing hardware will be used in any design proposal.

Network bandwidth cannot be expanded.

Which concept of the Discover Task do these items belong to? (Choose the best answer.)

A. constraint

B. requirement

C. risk

D. assumption

Correct Answer: A

QUESTION 2

What is a design justification for a solution with 3 NSX Manager nodes deployed in a 4 ESXi cluster Management
Cluster? (Choose the best answer.)

A. NSX Controllers are separated from NSX Managers allowing 6 ESXi servers to host them.
B. NSX Management Plane and Control Plane will be reduced to a single point of failure.

C. Compute consumption guarantees NSX Manager nodes can be run on the same ESXi host.
D. Single point of failure on Control Plane and Management Plane will be mitigated.

Correct Answer: B

QUESTION 3

An architect is helping an organization with the Logical Design of an NSX-T Data Center solution. This information was
gathered during the Assessment Phase:

NSX-T will span across two sites for disaster recovery.
Public Load Balancer VIP should be accessible from a secondary site.
Distributed Firewall Policies should be available at a secondary site.

Routing capabilities should be maintained after failure.
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NAT capabilities are required.

Which two selections should the architect include in their design? (Choose two.)
A. Use of the same ISPs across sites.

B. Use two separate ISPs across sites.

C. Use MTU to 1550 between sites.

D. Set MTU to 1550 between sites.

E. Use IP sets or groups to configure DFW rules.

Correct Answer: AE

Reference: https://www.vmware.com/content/dam/digitalmarketing/vmware/en/pdf/products/nsx/vmwaremulti-site-
solutions-cross-vcenter-nsx-design-guide.pdf

QUESTION 4

An architect is helping an organization with the Physical Design of an NSX-T Data Center solution.
This information was gathered during the Assessment Phase:

There is a critical application used by the Finance Team.

The critical application has an availability and recoverability SLA of 99.999%.
The critical application is sensitive to network changes.

Which two selections should an architect include in their design? (Choose two.)
A. Configure Tier-0 gateway for eBGP and ECMP.

B. Configure Tier-1 gateway for eBGP and ECMP.

C. Enable BFD on Tier-0 gateway.

D. Install and configure hosts with 100Gbps physical NICs.

E. Configure multiple static routes on Tier-1 gateway.

Correct Answer: BD

QUESTION 5

According to the Discover Task of the Engagement Lifecycle, which statement would be classified as a risk? (Choose
the best answer.)

A. Enough power and cooling capacity is available in each rack in the data center.
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B. To retain certification to provide financial services to end customers, PCI-DSS audits need to be passed.
C. A merger and acquisition process was recently completed and new company on-boarding is not completed.
D. Due to existing contracts and purchase agreements, the existing server hardware needs to be reused.

Correct Answer: B
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